
KY411 OTTOMAN BED

Page 1 of 13

Screw

Thank you for your purchase. The following care instructions will allow you to make the most of your bed; 
helping to prolong the look and life of it by preventing wear and damage.

IMPORTANT INFORMATION
PLEASE ENSURE YOU READ THIS LEAFLET BEFORE USING YOUR BED. DO NOT DISCARD

OF ANY PACKAGING UNTIL YOU HAVE CHECKED THE PRODUCT THOROUGHLY.

This bed can be assembled as and END LIFT OR SIDE LIFT OTTOMAN, please ensure you 
follow the correct steps for your desired lift.

CARING FOR YOUR BED
• Pre-brush any fabric with a soft brush and then gently vacuum.
• Use a microfibre cloth to remove dust from wooden surfaces.
• In the event of a spill or stain, use specialist cleaning services.

SUNLIGHT AND HEAT DAMAGE
• Avoid contact with direct sunlight. If needed, move items or change their position to avoid the same area 

being exposed to repeated sunlight/heat.
• Do not place your bed close to fire places and/or radiators.
• Hot objects such as mugs/plates can permanently mark fabric and wood, avoid placing these on the bed.
• Do not allow children or pets to climb or jump on the bed.
• Avoid contact with sharp objects such as buckles, toys and jewellery as these can easily snag, tear, pull and/ 

or scratch the fabric/wood.



8Bolt M8x35M

1SpannerT-4

Allen key M4

Allen key M5

T-3

T-2

1

1

QtyDescriptionPictureLabel

TOOL LIST

Double Plastic Cap

4NutF

L
18

R

G
H

I
E
C

12Washer M8

16Bolt M8x20
B

4Bolt M6x20A
QtyDescriptionPictureLabelQtyDescriptionPictureLabel

 Single Plastic Cap 36

Page 2 of 12

HARDWARE LIST

N Bolt M8x15 22

4

4D

Connection Plate Left

Connection Plate Right

 Non-Woven Fabric
X18

X18

2

2

Bolt M8x40 4

Bolt M6x35

Bolt M6x70

Once you have completed Steps 1 & 2, choose whether you would 
like END LIFT or SIDE LIFT ottoman.

For END LIFT OTTOMAN, go to Page 4.
For SIDE LIFT OTTOMAN, go to Page 6.

Page 2 of 13



Step 1 G 4pcs

Step 2

 Step 2b

 Step 2a

C
Bolt M8x20 Washer M8

I

L

16pcs 8pcs

2pcs 2pcs
Connection
Plate Left

Connection
Plate Right

R

Page 3 of 12

G

Bolt M8x40

I

Washer M8
I 4pcs

D 4pcs

Bolt M6x35

 Step 2c
Page 3 of 13

Step 1

Step 2



Step 1 G 4pcs

Step 2

 Step 2b

 Step 2a

C
Bolt M8x20 Washer M8

I

L

16pcs 8pcs

2pcs 2pcs
Connection
Plate Left

Connection
Plate Right

R

Page 3 of 12

G

Bolt M8x40

I

Washer M8
I 4pcs

D 4pcs

Bolt M6x35

 Step 2c

END LIFT OTTOMAN
Once completed go to Page , to complete assembly.

For SIDE LIFT OTTOMAN, go to Page 6.

Page 4 of 13

Step E1
Screw



Step A3

 Step 3c

Step A4

M
Bolt M8x35

E 8pcs4pcs

 Step 3b

 Step 3a

Bolt M6x70

H
Bolt M6x20

4pcs

N
Bolt M8x15

16pcs Step 4a Step 4b

N

 Step 4c

HEADBOARD
ORIENTATION

HEADBOARD

NN

Page 4 of 12

Step E2

Step E3

Page 5 of 13



Page 1 of 13

Step A5
 Step 5c

 Step 5a

Bolt M8x15

6pcsN

F

F
Nut

4pcs

Step B3 E 4pcs

Bolt M6x70

 Step 5d

 Step 5b

Page 5 of 12

SIDE LIFT OTTOMAN
Once completed go to Page , to complete assembly.

For END LIFT OTTOMAN, go to Page 4.

Step S1

Page 6 of 13



Step B4 M
Bolt M8x35

H 8pcs4pcs

Bolt M6x20

OR

Page 6 of 12

Step S2
RIGHT SIDE

LEFT SIDE

Page 7 of 13



N
Bolt M8x15

16pcs
 Step 5a Step 5b

N

 Step 5c

HEADBOARD
ORIENTATION

HEADBOARD

NN

Step B5

HEADBOARD
ORIENTATION

HEADBOARD

 Step 5b

N

 Step 5a

N
N

 Step 5c

OR

Page 7 of 12

Step S3

Page 8 of 13

RIGHT SIDE

LEFT SIDE



Step B6
Bolt M8x15

6pcsN
 Step 6a

 Step 6c

F

F  Step 6b

Step 7
Turn bed on its side and attach Non-woven fabric      to base.

Attach Non woven fabric

 Step 6d

Page 8 of 12

COMPLETE ASSEMBLY 
ON NEXT PAGE

Step S4

Page 9 of 13



Step 8

Step 9

36pcs 18pcs

A

A B
 Single

Plastic Cap
 Double

Plastic Cap

Complete Assembly

OR

Page 9 of 12

Step 8

Step 9

36pcs 18pcs

A

A B
 Single

Plastic Cap
 Double

Plastic Cap

Complete Assembly

OR

Page 9 of 12Page 10 of 13

Assembly Complete

Add slats

Attach Non Woven Fabric
Turn Bed on its side and attach the fabric as shown



Page 10 of 12

Page 11 of 13



Page 11 of 12
Page 12 of 13



Page 12 of 12Page 13 of 13


